
 

 

&Ú×Ï ´ {ÚÆæÈ à`ÑÍóÚ.  

 

ÁÛÜ Ù‘æ$ èóæ$½æØó ÁÚÙßûÛ× à$×õù×ÁÛÜ Ù‘æ$ èóæ$½æØó ÁÚÙßûÛ× à$×õù×ÁÛÜ Ù‘æ$ èóæ$½æØó ÁÚÙßûÛ× à$×õù×ÁÛÜ Ù‘æ$ èóæ$½æØó ÁÚÙßûÛ× à$×õù×  

AA1 Ñþ$è× AA1 Ñþ$è× AA1 Ñþ$è× AA1 Ñþ$è× ----    2012012012016666    íù<$Ííù<$Ííù<$Ííù<$Í    

(AA1(AA1(AA1(AA12222) <]$û$Ø ) <]$û$Ø ) <]$û$Ø ) <]$û$Ø &úÀ{$ ûǗ $ó$õß́ æ æǗ&úÀ{$ ûǗ $ó$õß́ æ æǗ&úÀ{$ ûǗ $ó$õß́ æ æǗ&úÀ{$ ûǗ $ó$õß́ æ æǗ         
                                                                               (Quantitative Methods for Business) 

•     à×÷Ȩ̀æØ`<ùßð ãûµ÷À&ßà×÷Ȩ̀æØ`<ùßð ãûµ÷À&ßà×÷Ȩ̀æØ`<ùßð ãûµ÷À&ßà×÷Ȩ̀æØ`<ùßð ãûµ÷À&ß    (à<ø$ùµ×ùß æÚ×Ñ× ×ÔõÝ×): 

(1) ÷ÀÛ à`õÚ æ$Ù×÷ÀÛ à`õÚ æ$Ù×÷ÀÛ à`õÚ æ$Ù×÷ÀÛ à`õÚ æ$Ù×    ::::  æÚ×Ò´ &úÀ{$ - Ñù$± 15 ×Ú.    

  ãõßõØ    ÙÚÒ´ &úÀ{$ - û`× 03 ×Ú.    

(2) &Ú×Ï´ ûÜÁßù <Ùð ãõßõØ &`û×Ú×&Ú×Ï´ ûÜÁßù <Ùð ãõßõØ &`û×Ú×&Ú×Ï´ ûÜÁßù <Ùð ãõßõØ &`û×Ú×&Ú×Ï´ ûÜÁßù <Ùð ãõßõØ &`û×Ú×    ×ÔõÝ×ÔõÝ×ÔõÝ×ÔõÝ    µÓµÓµÓµÓ....    

(3) áÙßÏÈ æØù Ù÷À ´$ø]µ×ùß´$ø]µ×ùß´$ø]µ×ùß´$ø]µ×ùß,  äæß þ$Â$<æÚùß û´óæß, äæß þ$Â$<æÚùß û´óæß, äæß þ$Â$<æÚùß û´óæß, äæß þ$Â$<æÚùß û´óæß,  åý µ<õ &û×ù Ù÷À µû$õß<Ùµû$õß<Ùµû$õß<Ùµû$õß<Ù ãõßõØãõßõØãõßõØãõßõØ ÙÚ×ùßù. 

(4) èóù× æÚÎÈ &{ µûØ<`ò à´Ôóùßù. ãûæÙßûù æÚ&Ú<æß à`µõ$õß, äß<$ û`{`÷ÀÚÙÚ< ÷Àæß<ùßù. 

(5) <`ò&ð{ùß èõæÚÎ´ æ} µù${`æÚ èóæ ×ùßõÜ û´óæßû´óæßû´óæßû´óæß þ$Ñõ æÚÎ´ð áò µ÷ÀùÔ Ù`µÅ. 

(6) ûÜ&ßõ$Ø µæ$}ûÜ&ßõ$Ø µæ$}ûÜ&ßõ$Ø µæ$}ûÜ&ßõ$Ø µæ$} &{ èóÚõ´× <èÝèóÚõ´× <èÝèóÚõ´× <èÝèóÚõ´× <èÝ &û×ùÔ Ù`µÅ. 

(7) àÌöæöù &{Úõ æ} ×ÔõÝ æÜÚ×$ ûÎæßÂ$ Ù`×Ú&ßõÝ<æ} ×ÔõÝ æÜÚ×$ ûÎæßÂ$ Ù`×Ú&ßõÝ<æ} ×ÔõÝ æÜÚ×$ ûÎæßÂ$ Ù`×Ú&ßõÝ<æ} ×ÔõÝ æÜÚ×$ ûÎæßÂ$ Ù`×Ú&ßõÝ<    à Ốó$ à`õ. <$&ßõÑæ ûÎæßÂó ûÜÁßù {`Ø àùß &|´ ûÜÁßù×æß́  
æ} ×ÔõÝ æÜÚ×$<æÚùß ×Ôæßõ µÓ. æ} ×ÔõÝ æÜÚ×$    ûÎæßÂ$ Ù`×Ú&ßõÝµÓ ä´ æÜÚ×$< &úÀ{$ ÷ÀÛ à`õÚ àÌöæöù× û÷ÀùÈ 
æØµèù à×÷Ȩ̀æØ`<ùß Ñ&Úùß ûÜÁßù× &úÀ{$ à<Á] ãõßõØ &`û×Ú× ×ÔõÝ×. 

(8) &ÕõÜ ûõÜÚæ$ &ÕõÜ ûõÜÚæ$ &ÕõÜ ûõÜÚæ$ &ÕõÜ ûõÜÚæ$ à Ốó$ à`õ. 

(9) ÙæÝóÔ 100 ×Ú. 
 

 

A µæ$ð&A µæ$ð&A µæ$ð&A µæ$ð&    
 

<$&ßõÑæ ûÎæßÂó ûÜÁßù (OTQs)<$&ßõÑæ ûÎæßÂó ûÜÁßù (OTQs)<$&ßõÑæ ûÎæßÂó ûÜÁßù (OTQs)<$&ßõÑæ ûÎæßÂó ûÜÁßù (OTQs)    

àùÚ<$Ì× ûÜÁßù ÷À{&× (16) æÚ. 

(´Ô_ ÙæÝóÔ 40) 

                                                

à‘æ 1.11.11.11.1 &Úð 1.1.1.1.8888 ÷Àæß<$ à`õÚ ûÜÁßù &úÀ{$ <ò$õß́  &Ô÷&̧Ô ãõßõØ× µõ$ßØùßù. µõ$ßØ$èõß ãõßõØ×ð à÷À$Ù à‘æ× 

ûÜÁßù à‘æ× &´è åµÅ ãõßõØ µû$µõß ÙÚ×ùßù. 
 

1.11.11.11.1 äæß à×Úõ´×æß Ø`.937.50 ý`èÚùß ÑæÝóùÔ Ùýù µõ$ßØ$èõß à×Úõ´×æß &úÀ{$ ùÚÂßû$÷Àæµ×æÝ Ñ&Úùß 25% æ 

Ù$þ$ùßõÚæ×æß õý$ èùÛ. û&ÔèÚ× ´$&µ×ß å{Ô äßææ 100 æß ÑæÝóùÔ Ù`Ä×. û&ÔèÚ× ´$&µ×ß å{Ôµèß Ù$þ× 

<ùßµùß: 

(1)  Ø`.56,250/-. (2)  Ø`.93,750/-. (3)  Ø`.23,437.50 (4)  Ø`.18,750/-.  

         (ÙæÝóÔ 03)  
 

1.21.21.21.2 ûÔ÷ÀßèÙµ×æÝ Ñ&Úùß &|´ <ÌÂ×æ´ à$ØÈþµ×ß ÷ÀÛ Ø`.15,000/- æß áõÝØ`È èÚóỐ æ õ`ùßûõß æØùÔ Ùý×Ú. µ´´ 

áõÝØ`È èÚóỐ  &úÀ{$ 7% æ <$ÌÂÚæ &Ô_ µû$ÙÛ àùÔû$õ×æß µè<ùÔ Ùý×Ú ùÈ, 10 <ù <ÌÂ× à<&$ùµ×ß ÷ÀÛ 

áõÝØ`È èÚóÔµÈ µÁßÂ× <ùßµùß (à$&ùßùõ´ Ø`ûÚ×Ùð). 

 (1)  Ø`.222,185/-. (2)  Ø`.221,754/-. (3)  Ø`.221,869/-. (4)  Ø`.221,640/-.  

        (ÙæÝóÔ 03) 

ûÚðÔ èóù :  10 
ûÜÁßù èóù : 06 

01 <ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù×        

2016-02-07 

µûØ<Ø`  

[8.45 – 12.00]  
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1.31.31.31.3  û{õ &úÀ{ùß <èÝµ<ùß äæßõØ$ ùÚÂßû$÷ÀÚõ×æ ùÚ́ `<Ố  (X) ð äµØ{Ú< ä{Ú Ố_ ûÚÍ<`× (Y) Ø`. ÆÙÚ×ù <ÙÚùß 

µûùßùÔÈ æØùÔ Ù`µÅ:  

X  Y ((((Ø`Ø`Ø`Ø`. . . . ÆÙÚ×ùÆÙÚ×ùÆÙÚ×ùÆÙÚ×ù)))) XY X
2
 Y

2
 

60 3.1 186 3,600 9.61 

61 3.6 219.6 3,721 12.96 

62 3.8 235.6 3,844 14.44 

63 4 252 3,969 16 

65 4.1 266.5 4,225 16.81 

311311311311    18.618.618.618.6    1,159.71,159.71,159.71,159.7    19,35919,35919,35919,359    69.8269.8269.8269.82    

 

ùÚ́ `<Ô´ &{ Ố_ ûÚÍ<`× àõØ &{&Èýùßøõ$ &‘èÝóæ× (correlation co-efficient) <ùÔµ×ß: 

(1)  0.91 (2)  0.82 (3)  0.31 (4)  0.55  

        (ÙæÝóÔ 03) 

1.41.41.41.4  ý`‘æÝ<æ þ$óßò$è$Ø µ÷Àû$ÌõµÈùßõÝ< Ñ&Úùß ÷ÀÛ à`õÚ &Èþ$Ñõ$<ùß ×ðµõß û{õ &úÀ{ùß µû$ÙÛ àùÔû$õÚæ 

â}ê <ÌÂ× &úÀ{$ àµûßæßÂ$ æØ×Ú:  

µû$ÙÛ µû$ÙÛ µû$ÙÛ µû$ÙÛ 
àùÔû$õÚæ×àùÔû$õÚæ×àùÔû$õÚæ×àùÔû$õÚæ×    

&Èþ$Ñõ$<&Èþ$Ñõ$<&Èþ$Ñõ$<&Èþ$Ñõ$<    

7.50% 0.10 

7.80% 0.22 

8.00% 0.26 

8.60% 0.20 

8.80% 0.15 

9.50% 0.07 
 
â}ê <ÌÂ× &úÀ{$ àµûßæßÂÚõ µû$ÙÛ àùÔû$õÚæ× <ùßµùß: 

(1)  8.00%  (2)  8.37%  (3)  8.67%  (4)  8.25%  

        (ÙæÝóÔ 03) 
 

1.51.51.51.5    

xxxx     xxxx−xxxx    (x(x(x(x    −    x)x)x)x)2222    

05  -7.5  56.25  

10  -2.5  6.25  

15  2.5  6.25  

20  7.5  56.25  

 á{õ ÷Àõßõ &úÀ{$ ÑëÙõ$ &‘èÝóæ× (co-efficient of variation) <ùßµùß: 

(1)  0.1  (2)  2  (3)  0.4  (4)  0 (ÙæÝóÔ 03)
 

 
 

1.61.61.61.6  ûÜõÚû$×ù µÌç$<æß (regression line) Ùý$ è`ùÛ́  &úÀ{$ µý$µ{$ß Ñð þ$Ñõ æØù æǗ  µ÷Àææß <ùßµùß: 

 (1)  àùÔûæ$Ø æǗ × (free hand method) &{ Ù`&ßûÚ×Ìµèß æǗ ×. 

 (2) û$µÂßµèß æǗ × &{ àòÔõ´ <Ìè æǗ × (least square method). 

 (3) Ù`&ßûÚ×Ìµèß æǗ × &{ û$µÂßµèß æǗ ×. 

 (4) àùÔûæ$Ø æǗ × &{ àòÔõ´ <Ìè æǗ ×.      (ÙæÝóÔ 03) 
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1.71.71.71.7  äæÚµùæð µ<ù&ß &´$èÈ û{æß &úÀ{$ ÆÙ &$µûßæßÂæ &{ äß<$µ×ß ýØ õ`ÄÈ û{õ <èÝµÓ ÷Àæß<$ õÚµÅ: 

&´$è´&´$è´&´$è´&´$è´    ÆÙ &$µûßæßÂæ×ÆÙ &$µûßæßÂæ×ÆÙ &$µûßæßÂæ×ÆÙ &$µûßæßÂæ×    ýØýØýØýØ    õ`Ä´õ`Ä´õ`Ä´õ`Ä´    

A 120 16 

B 80 25 

C 160 15 

D 75 12 

E 220 20 

á{õ ÷Àõßõ æÝÙæ× &úÀ{$ þÍõ &$´$ù] ÆÙ (weighted average price) &$µûßæßÂæ× <ùßµùß:  

(1)  131    (2)  132.04   

(3)  17.74    (4)  125.60 (ÙæÝóÔ 03)
  

 

1.81.81.81.8  û{õ &úÀ{ùß äæß äæß ṌÙÚæ ùÚ×`÷̧È û÷À× (basic sampling term) ùÚ<`Ø÷ÀÚ ùÚÌ<ëù× &´è èÙûùßù:   

û÷À×û÷À×û÷À×û÷À×    ùÚÌ<ëù×ùÚÌ<ëù×ùÚÌ<ëù×ùÚÌ<ëù×    

P P P P :  &‘è{ù×  TTTT :  ÑÁ$Ù æÝÙæ×æÚùß èõß à×Úõ´×ùßµèß ãûæÝÙæ× 

Q Q Q Q : ùÚ×`÷ÀÚ à<æ$Á× U U U U :  ûÎæßÂó×æÚùß Ñ× {`æÚ &Ú×Ï´ ûÜõÚüÙ <Ù æÝÙæ× 

R R R R : ùÚ×`÷ÀÚ×  V V V V :  ùÚÌ<¥õ æóßò$×´æ &Ú®× {`æÚ &Ú×Ï´ &$´$¬æ×ùß µ{$ß &Ú×Ï´ à×Úõ´ 

(1)  P P P P → U  U  U  U  :        Q Q Q Q → V  V  V  V  :        R R R R →    TTTT (2)  PPPP → VVVV  :  QQQQ → UUUU :  RRRR → TTTT  

(3)  PPPP → TTTT  :  Q Q Q Q → UUUU  :  RRRR → VVVV (4)  PPPP → UUUU  :  QQQQ → TTTT  :  RRRR → VVVV    (ÙæÝóÔ 03)    

à‘æ 1.9 1.9 1.9 1.9     &Úð 1.131.131.131.13    ÷Àæß<$ <Õ ûÜÁßù &úÀ{$ ãõßõØ &`û×Û́ ð û{õ ÷À̀ æßµ<ù ûÜ&ßõ$Ø× µ×$÷À$èùßù.    

û{õ ÷À̀ æßµ<ù äæß äæß ûÜæ$Á× &õ] &õ] &õ] &õ] ÷À à&õ]à&õ]à&õ]à&õ] ÷À ×ùßù &úÀ{ùß æØùßù. åý Ñ&Úùß µõ$ßØ$èõß ãõßõØ× (&õ] &õ] &õ] &õ] /    

à&õ]à&õ]à&õ]à&õ] ×ùßù), ûÜÁßù à‘æ× ÷À &´ê åµÅ ãõßõØ µû$µõß ÙÚ×ùßù. 

Øðæ Ñ÷Ù̧Ú× ûÍµþ$ßíù× ý${ÚØ ûÍ&Ø ãÂßóõß<× &´è µ<ù&ß µÓ. Ñ÷̧ÙÚ ýÙ ´óßòÙ× ´èÚùß ùÚ<&æ Ñ÷Ù̧Ú 

ÃÙßûµõß àè×, ÷ÀÚ<$ æ$Ùµ×ß÷ÀÛ ý${ÚØ ûÍ&Ø ãÂóõß<×ð àùÔæÞÙ< µ<ù&ß<ù à$æ$Ø× ûÚ}ÚýúÀ< &ÇæßÂó×æß 

&Ú÷̧æØù Ù÷ÀÛ. û{õ ÷À̀ æßµ<ùßµùß &ÇæßÂóµ×ß÷ÀÛ äæõÝ æØèõß ÷Àõßõ &úÀ{$ àúÀÚù Ù÷À Ñ&ÚÍõÚõß &ð{ù &{ &Ô÷̧&Ô ´ 

àùÔ&Û{ÔÈ µÌç$< (line of best fit) ×.   
 

 

 

 

1.91.91.91.9    ÑëÙ]×ùß µ÷Àµæ{Ú(02) ûÜýÙ &#ó &{&Èýùßøõ$<×æß õÚµÅ.   (ÙæÝóÔ 02) 

1.101.101.101.10  àû Ñ&Úùß, <${ù×æ à_õß<`±×$ ûÚÍ<`× (Y àæßÂ×) <${ù×æ à$×Ô æ$Ù× (X àæßÂ×) ð äµØ{Ú Ñ&ÚÍõÚõß 

&ð{ùæ àúÀÚùÔ Ùýùßµùß ùÈ Çð &´$ù Ñ&ÚÍõÚõß &ð{ùæß Ù`µýùÔ à`õ.   (ÙæÝóÔ 02) 

1.111.111.111.11  ûÜõÚû$×ù µÌç$µÓ &ÇæØó× Y = -200 + 33.33X µÓ. (ÙæÝóÔ 02) 

1.121.121.121.12 ý${ÚØ ûÍ&Ø ãÂßóõß<× µ&Ùß&Ú×&ß à‘Áæ 21o ùÈ, Ñ÷Ù̧Ú× ÃÙßûµõß ûǗ $ó× µò$ÙÌ ($) 450/- õß µò$ÙÌ ($) 

500/- õß àõØ <ùÔ à`õ. (ÙæÝóÔ 02)    

1.131.131.131.13    ûÜõÚû$×ù µÌç$µÓ    àùÔæǗ ó× -1 &Úð +1 ÷Àæß<$ àè×æß èùÛ.  (ÙæÝóÔ 02) 

 

 

ãÂßóõß<× ãÂßóõß<× ãÂßóõß<× ãÂßóõß<× 0000C (µ&Ùß&Ú×&ß à‘Áæ)µ&Ùß&Ú×&ß à‘Áæ)µ&Ùß&Ú×&ß à‘Áæ)µ&Ùß&Ú×&ß à‘Áæ)    
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à‘æ 1.14 1.14 1.14 1.14     &Úð 1.16 1.16 1.16 1.16 ÷Àæß<$ ûÜÁßù <Ùð µæ® ãõßõØ, ûÜÁßù à‘æ× &´è ãõßõØ µû$µõß ÙÚ×ùßù. 

à‘æ 1.1.1.1.14141414    &Úð 1.11.11.11.16 6 6 6 ÷Àæß<$ <Õ ûÜÁßù &úÀ{$ ãõßõØ &`û×Û́ ð û{õ ÷À̀ æßµ<ù <èÝ< þ$Ñõ æØùßù.    

<${ù <Ù µ×$÷À$ èùÔ Ùýù µ÷À́ Ô{Ôùß (Hybrid) õ$æßÂó× à_õß &‘æÙßû×æß <ù àõØ <${ù 

ùÚÂßû$÷Àæ×ùß ä× õ<´õß àõß{÷À$ ýÙÆùß &Ú®õÚ.  

µ÷À́ Ô{Ôùß ý`ðÍ à$ÁÜÚõ ûÜÁßù ùÚ&$ <${ù ùÚÂßû$÷Àæ×ùß å<Ôùßµèß µ÷À́ Ô{Ôùß <${ù à$û&Ô æ`úÀÒ´ 

(recalled) ûÚ}ÚýúÀ à<&ßö$<ùß æÛû×æß <$Ìõ$ Ò õÚµÅ.  

µõ$ßØ$èõß <${ù 600 æ ùÚ×`÷ÀÚ×æÚùß ûÜø$ù µûµÙß µ÷À́ Ô{Ôùß <${ù ùÚÂßû$÷Àæ×ùß õÚµ÷ÀµùæÝ Ñ&Úùß à$û&Ô æ`úÀ<ù Ù÷À 

<${ù èóù û{õ ÷À̀ æßµ<ù <èÝµÓ µûùß<$ à`õ.  
 

 ûÜÚ×&ßûÜÚ×&ßûÜÚ×&ßûÜÚ×&ß    µ{$ùßò$µ{$ùßò$µ{$ùßò$µ{$ùßò$    ----    \\\\Ú>Ú>Ú>Ú>    µýùß&ß {×ÚÃÜ³µýùß&ß {×ÚÃÜ³µýùß&ß {×ÚÃÜ³µýùß&ß {×ÚÃÜ³    

ý`ðÍµ×ß µ÷À$ßÂ ùÚ&$ à$û&Ô æ`úÀ<Õ 6 11 x 

à$û&Ô µù$æ`úÀ<Õ 194 y 197 

1.141.141.141.14  <${ù×æß à$û&Ô æ`úÀÒµÈ &´&ßö (overall) &Èþ$Ñõ$< 0.03 æß ùÈ, "x" {Ú àè× æÝ́ æß ÷À? (ÙæÝóÔ 02) 

1.151.151.151.15   "y" {Ú àè× æÝ́ æß ÷À?    (ÙæÝóÔ 02) 

1.161.161.161.16  <${ù×æß à$û&Ô æ`úÀ<ùßµùß ùÈ, ä× ûÜÚ×&ß <${ù×æß ÒµÈ &Èþ$Ñõ$< æÝ́ æß ÷À?  (ÙæÝóÔ 02) 

 

 
    

B µæ$ð&B µæ$ð&B µæ$ð&B µæ$ð&    

àùÚ<$Ì× ûÜÁßù {õØ (04) æÚ. 

(´Ô_ ÙæÝóÔ 40) 

                                                                                                                                                                                             

(a) äÙß.âÛ.² (LED) Ñ÷̧ÙÚ ýÔýÔ_  150 æ à$×Ô æ$Ù <]$ûßõÚ× û{õ ÷ÀÛ à`õ:   

à$×Ô æ$Ù×à$×Ô æ$Ù×à$×Ô æ$Ù×à$×Ô æ$Ù×    ((((û`×û`×û`×û`×))))    Ñ÷Ù̧Ú ýÔýÔ_ èóùÑ÷Ù̧Ú ýÔýÔ_ èóùÑ÷Ù̧Ú ýÔýÔ_ èóùÑ÷Ù̧Ú ýÔýÔ_ èóù    

501  - 1,600 18 

601  - 1,700 21 

701  - 1,800 x 

801  - 1,900 30 

901  - 1,000 24 

1,001  - 1,100 20 

1,101  - 1,200 14 

äÙß.â.². Ñ÷Ù̧Ú ýÔýÔÙæ à$×Ô æ$Ùµ×{Ú ´ø]ù]× &{ &È´õ àûè´ù× èóù× æØùßùèóù× æØùßùèóù× æØùßùèóù× æØùßù.  (ÙæÝóÔ 06) 

(b) ABB ABB ABB ABB ý`‘æÝ< ý`‘æÝ< ý`‘æÝ< ý`‘æÝ< ä{Ú èùÔµ÷ÀùÔæØ`<ùßð ó× µ×$ßíù$ æǗ  µ÷Àææß ûÚÍù´×Ú: 

• ûÔ÷ÀßèÙÚæ ó×  -  {Úê< à`õÚ ó× µÁßÂ× ´õ µû$ÙÛ èóù× æØùÔ Ù`µÅ. 

• ãæ&ß ó× -  &´$ù ´$&Úæ <$Íæ <ÙÚùß ù`<õ µèÒ´ æ} ×ÔõÝ µÓ. 

µûµÌØ$µûµÌØ$µûµÌØ$µûµÌØ$ µ´$ßðÌ ý×Ú&ÚæÙ×æß ÆÙ÷ÀÛ è`ùÛ́  &úÀ{$ <ÌÂ 5 æ ð Ø`.300,000/- æ ó× Ố÷ÀÙæß à×÷̧È æÚÎ´ð 

××Ú. á{õ ÑæÙßû µ×$ßíù$ µ÷Àæ ×ðµõß û{õ &úÀ{ùß à$û&Ô µèÒµÈ ãûµÙßçù µ÷Àæ ý`‘æÝ< å{Ô µ<õ 

ûÚÍù´$ à`õ. µû$ÙÛ àùÔû$õÚæ× <$ÌÂÚæ< 6% æß µÙ&ð ãûæÙßûù× æØùßù.    

02 <ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù× 

A µæ$ðµ&{Ú à<&$ù×    
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1 <ù ÑæÙßû×1 <ù ÑæÙßû×1 <ù ÑæÙßû×1 <ù ÑæÙßû×    ----        ûÔ÷ÀßèÙÚæ ó×ûÔ÷ÀßèÙÚæ ó×ûÔ÷ÀßèÙÚæ ó×ûÔ÷ÀßèÙÚæ ó× 

<ÌÂ×<ÌÂ×<ÌÂ×<ÌÂ×    1111    2222    3333    4444    5555    

ûÜ$èßøù×ûÜ$èßøù×ûÜ$èßøù×ûÜ$èßøù×    60,000 60,000 60,000 60,000 60,000 

µû$ÙÚ×µû$ÙÚ×µû$ÙÚ×µû$ÙÚ×    24,000 18,000 12,000 6,000 3,000 
 

2 <ù ÑæÙßû×2 <ù ÑæÙßû×2 <ù ÑæÙßû×2 <ù ÑæÙßû×        ----        ããããææææ&ß ó×&ß ó×&ß ó×&ß ó× 

<ÌÂ×<ÌÂ×<ÌÂ×<ÌÂ×    1111    2222    3333    4444    5555    

à$û&Ô µèÒ´à$û&Ô µèÒ´à$û&Ô µèÒ´à$û&Ô µèÒ´    73,000 73,000 73,000 73,000 73,000 
 

µûµÌØ$ð µûµÌØ$ð µûµÌØ$ð µûµÌØ$ð <ò$õß́  &Ô÷&̧Ô    ÑæÙßû×    èóù× æÚÎÈ ÷À &´è,    {úù̧$ ÷Àæß<ùßù{úù̧$ ÷Àæß<ùßù{úù̧$ ÷Àæß<ùßù{úù̧$ ÷Àæß<ùßù. (ÙæÝóÔ 04) 
 (´Ô_ ÙæÝóÔ 10)  
 

 

                                                                                                                                                                                             

(a) &´$è´æ õÚýÕ ×ùßõÜ<ÙÚùß äææð &õÚ×æð ãûÍ´ <Áµ×ùß äßææ 10,000 æß ùÚÂßû$÷Àù× æÚÎµÈ {`æÚ×$< 

à`õ. äßææ"x" èóùæß ùÚÂßû$÷Àù× æÚÎµÈ &õÚ×æ ûÚÍ<`×,    
 

2 3( ) 75,000 100 0.03 0.000004c x x x x= + − +      
 

´èÚùß µ÷ÀùÔ Ùýù àõØ, äßææ &úÀ{$ áÙßÏÈ ÁÜÚõ× û{õ ÷À̀ æßµ<ù, 
 

( ) 200 0.005p x x= −  
 

ÆÙ ÁÜÚõ× ´èÚùß µ÷ÀùÔ Ù`µÅ.  
 
à$ùßõÚæ ûÚÍ<`× ÁÜÚõ×, à$ùßõÚæ à$÷À$×È ÁÜÛõ× &{ à$ùßõÚæ Ù$þ ÁÜÚõ× {ú̧ù$ ÷Àæß<ùßù{ú̧ù$ ÷Àæß<ùßù{ú̧ù$ ÷Àæß<ùßù{ú̧ù$ ÷Àæß<ùßù.  (ÙæÝóÔ 06) 
  

  

(b) AAAA ùÚÂßû$÷ÀÚõµ×ß äßææ 5 æß &{ BBBB    ùÚÂßû$÷ÀÚõµ×ß äßææ 8 æß ÆÙ÷ÀÛ è`ùÛ́  &úÀ{$ Ø`.350/- æß à<Á] µÓ. AAAA 
ùÚÂßû$÷ÀÚõµ×ß äßææ×æ ÆÙ BBBB ùÚÂßû$÷ÀÚõµ×ß äßææ×æ ÆÙð <ò$ Ø`.5/- æÚùß <`±×. 

 AAAA ùÚÂßû$÷ÀÚõµ×ß &{ B B B B ùÚÂßû$÷ÀÚõµ×ß äßææ ÆÙ µ<ù µ<ù´ èóù× æØùßùèóù× æØùßùèóù× æØùßùèóù× æØùßù.  (ÙæÝóÔ 04) 

 (´Ô_ ÙæÝóÔ 10)  
 
 

    

(a) à$µ×$ßíù &´$è´æß ä{Ú àØ Ố÷ÀÙß û{õ µûùß<$ à`õÚ ûÍ÷ÀÚ ûÔ_Ùß à‘Á 6 æ à$µ×$ßíù× æØ×Ú. à$µ×$ßíù 

æ}´ù$æØ` µÙ& åý Ñ&Úùß, àø]æßÂ ´óßòÙ× µ<õ à‘Á àùÔ< àØ Ố÷ÀÙß à$µ×$ßíù× æØ à`õÚ à$æ$Ø× 

µûùß<ù á÷ÀÚÍûõß æÚÎ´æß (presentation) ûÚ}Úµ×Ù æ} ×ÔõÝ×:   

 
Ø`Ø`Ø`Ø`. (. (. (. (ÆÙÚ×ùÆÙÚ×ùÆÙÚ×ùÆÙÚ×ù))))    

ýÙ ÁæßõÚ× 12 

à${$Ø û$ù 18 

æ#ÂÚæÌ´× 22 

ỐÙ] &´$èÈ 8 

µÙ$ß{ {$ á÷ÀÚæÚÎÈ 9 

µ<ùõß 11 

á{õ ÷Àõßõ åýµèß á÷ÀÚÍûõß æÚÎ´ð à`õÝÙõß æÚÎ´ &úÀ{$ õÛØ` ûÜ&ßõ$Ø×æß (Bar Chart) &{ <ð ûÜ&ßõ$Ø×æß 

(Pie chart) àúÀÚàúÀÚàúÀÚàúÀÚùßùùßùùßùùßù. (ÙæÝóÔ 05) 

(b) ûÔ÷ÀßèÙµ×æß Ø`.10,000/- æ Ố÷ÀÙæß <ÌÂ 3 æ æ$Ù×æð ÁÜÛ Ù‘æ$µÓ <$óÚí ý`‘æÝ<æ õ`ùßûõß æÚÎ´ð 

ýÙ$µû$µØ$õßõÝ µ<×Ú. ý`‘æÝ< û{õ &úÀ{ùß õ`ùßûõÝ µ×$ßíù$ æǗ  µ÷Àæ å{Ô µ<õ ûÚÍù´×Ú:  

AAAA µ×$ßíù$ æǗ × - 5% æ <$ÌÂÚæ &Ô_ µû$ÙÚ× ´õ. 

BBBB µ×$ßíù$ æǗ ×  - 5% æ <$ÌÂÚæ µû$ÙÚ× <$ÌÂÚæ< <`Ùß µû$ÙÚ èõ æÚÎ´ ´õ. 

03 <ù <ù <ù <ù ûÜÁßù×ûÜÁßù×ûÜÁßù×ûÜÁßù× 

04 <ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù× 
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 åý Ñ&Úùß æ} ×ÔõÝ ÷À|åý Ñ&Úùß æ} ×ÔõÝ ÷À|åý Ñ&Úùß æ} ×ÔõÝ ÷À|åý Ñ&Úùß æ} ×ÔõÝ ÷À|,,,,    

(i) ä´ ûÔ÷ÀßèÙ×$ AAAA µ×$ßíù$ æǗ × µõ$ßØ$èùßµùß ùÈ, æÙßûÚÎµÈ÷ÀÛ <®ù$æ´ (maturity value) èóù× èóù× èóù× èóù× 

æØùßùæØùßùæØùßùæØùßù.  

(ii) ä´ ûÔ÷ÀßèÙ×$    BBBB    µ×$ßíù$ æǗ × µõ$ßØ$èùßµùß ùÈ, <ÌÂ 3 à<&$ùµ×ß Ù`Ã× ×ÔõÝ< à`õÚ Ố_ µû$ÙÚ× 

èóù× æØùßùèóù× æØùßùèóù× æØùßùèóù× æØùßù.  

(iii) 5% <$ÌÂÚæ µû$ÙÛ àùÔû$õÚæ× àÌø-<$ÌÂÚæ< <`Ùßµû$ÙÛ èõ æ}µ{$õß, &üÙ µû$ÙÛ àùÔû$õÚæ× 

(effective rate of interest) èóù× æØùßùèóù× æØùßùèóù× æØùßùèóù× æØùßù. (ÙæÝóÔ 05) 
 (´Ô_ ÙæÝóÔ 10)  
 

                                                                                                                    

2011 &Úð 2015 ÷Àæß<$ ×ÔµØ$ßûµ×ß &Úð ÁÜÛ Ù‘æ$< ÷Àæß<$ èÝ<ùß ýÙûõÜ <Ù ÆÙ èóùß ×ÕµØ$ß (euro) (Є) <ÙÚùß û{õ 

÷Àæß<$ à`õ: 

<ÌÂ×<ÌÂ×<ÌÂ×<ÌÂ×    æ$ÌõÝ<æ$ÌõÝ<æ$ÌõÝ<æ$ÌõÝ<        
ýÙûõÜ ýÙûõÜ ýÙûõÜ ýÙûõÜ <Ù <Ù <Ù <Ù ÆÙ ÆÙ ÆÙ ÆÙ 
×ÔµØ$ß ×ÔµØ$ß ×ÔµØ$ß ×ÔµØ$ß ((((Є))))    

æ$ÌõÝ æ$ÌõÝ æ$ÌõÝ æ$ÌõÝ {õ{õ{õ{õµµµµØØØØ{Ú{Ú{Ú{Ú        
µæßùß÷ºèõ ëÙ ´ø]æ×µæßùß÷ºèõ ëÙ ´ø]æ×µæßùß÷ºèõ ëÙ ´ø]æ×µæßùß÷ºèõ ëÙ ´ø]æ×    

µæßùß÷ºèõµæßùß÷ºèõµæßùß÷ºèõµæßùß÷ºèõ    ëëëëÙ Ù Ù Ù 
´ø]æ ãûùõÚ×´ø]æ ãûùõÚ×´ø]æ ãûùõÚ×´ø]æ ãûùõÚ×    

Y/TY/TY/TY/T    

2011 

1 1 900 
  

      
2 2 960 

  
   1,030.0   
3 3 1,010  1,022.5 0.99 
   1,015.0   
4 4 1,250  997.5 1.25 
   980.0   

2012 

1 5 840  971.3 0.86 
   962.5   
2 6 820  930.0 0.88 
   897.5   
3 7 940  917.5 1.02 
   937.5   
4 8 990  956.9 1.03 
   976.3   

2013 

1 9 1,000  996.3 1.00 
   1,016.3   
2 10 975  1,051.3 0.93 
   1,086.3   
3 11 1,100  1,095.6 1.00 
   1,105.0   
4 12 1,270  1,119.4 1.13 
   1,133.8   

2014 

1 13 1,075  1,153.8 0.93 
   1,173.8   
2 14 1,090  1,183.8 0.92 
   1,193.8   
3 15 1,260  1,203.1 1.05 
   1,212.5   
4 16 1,350  1,228.8 1.10 
   1,245.0   

2015 

1 17 1,150  1,253.8 0.92 
   1,262.5   
2 18 1,220  1,275.0 0.96 
   1,287.5   
3 19 1,330  

 
      
4 20 1,450 

  

åý Ñ&Úùß æ} ×ÔõÝ ÷À|åý Ñ&Úùß æ} ×ÔõÝ ÷À|åý Ñ&Úùß æ} ×ÔõÝ ÷À|åý Ñ&Úùß æ} ×ÔõÝ ÷À|,,,,    

èÝóù] à$æ#õÚ× (multiplicative model) þ$Ñõ æØ, &#õÝ́ × ÷ÀÌÁæ (seasonal indices) èóù× æØùßùèóù× æØùßùèóù× æØùßùèóù× æØùßù. 
  (ÙæÝóÔ 10)  

05 <ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù× 

B µæ$ðµ&{Ú à<&$ù×    
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C µæ$ð&C µæ$ð&C µæ$ð&C µæ$ð&    

àùÚ<$Ì×× ûÜÁßù äæ (01) æÚ. 

(´Ô_ ÙæÝóÔ 20) 
 

 

(a) µè$òù`èÚÙÚ ÷º<] µ<µ}úÀ&`Ùæ 2014 &{ 2015 <ÌÂ<Ù à×Úõ´ &´{Øæ ÆÙ èóùß &{ ÑæÝóÔÈ ûǗ $ó û{õ 

<èÝµÓ µûùß<$ à`õ. µõ$ßØ$µèù à`õÚ à×Úõ´ <ÌÂ µ÷Àæ õÝ} ÷ÀÛ ÑæÝóù Ù÷À <`±´ Ù$þ$ùßõÚæ×ùß &{Úõ <Õ 

äß<$×:  

à×Úõ´× à×Úõ´× à×Úõ´× à×Úõ´×     
äßææäßææäßææäßææ×æ×æ×æ×æ    ÆÙÆÙÆÙÆÙ    ((((Ø`Ø`Ø`Ø`.).).).)    ÑæÝóÔÈ ûǗ $óÑæÝóÔÈ ûǗ $óÑæÝóÔÈ ûǗ $óÑæÝóÔÈ ûǗ $ó××××    (µð$ùß)(µð$ùß)(µð$ùß)(µð$ùß)    

2014201420142014    2015201520152015    2014201420142014    2015201520152015    

&Úµ´ùßõÚ 850 1,150 1,100 980 

<$µùß 600 610 500 500 

ã_ 450 350 1,400 1,650 

û$÷Àæ <ÌÂµ×ß ûǗ $ó þ$Ñõ æØÆùß, 2014 <ÌÂ× 100 ð &´$ù ×`×Ú &}æ$ (2014 = 100) 2015 <ÌÂ× 

&úÀ{$ þÍõ &´${$Ø ÆÙ ÷ÀÌÁæ× (weighted aggregate price index) èóù× æØùßùèóù× æØùßùèóù× æØùßùèóù× æØùßù.  (ÙæÝóÔ 04) 
 

(b) CNC CNC CNC CNC &´$è´&´$è´&´$è´&´$è´ à`è×Û́ ð Ùæß æÚÎ´ð æ`´õßõæß ÷Àæß<ù, û{õ ÷À̀ æßµ<ù ÙæßÂó &{Úõ &}æ$ ý`ÙÚ× {`æÚ 
(potential) äæß <]$û#õÚ×æß à`õ: 

• ä×ð Ø`.50,000/- æ ỐÙÚæ à$µ×$ßíù×æß à<Á] µÓ.  

• ä× <ÌÂ 4 æß ûÔØ$ û<õÚùÔ Ùýù àõØ, <ÌÂ 4 õÝÙ Ố÷ÀÙß èÙ$ äßÈ û{õ ûÍ÷ÀÚ &Ú÷ ̧<ùÔ à`õ: 

<ÌÂ×<ÌÂ×<ÌÂ×<ÌÂ×    Ố÷ÀÙß èÙ$ äßÈỐ÷ÀÙß èÙ$ äßÈỐ÷ÀÙß èÙ$ äßÈỐ÷ÀÙß èÙ$ äßÈ    ((((Ø`Ø`Ø`Ø`.).).).)    

1 15,000 

2 20,000 

3 25,000 

4 18,000 

CNC CNC CNC CNC &´$è&´$è&´$è&´$èµÈµÈµÈµÈ ûÜ$èßøù ûÚÍ<`× 15% æß <ù àõØ, ä´ &´$è´ µ´´ <]$û#õÚ× à`è×Û́ ð à÷À{&ß æØ à`õ. 

&´$èµÈ ûÜõÚûõßõÚ× <ùßµùß àþ]ùßõØ üÙ÷À$ àùÔû$õÚæ× (Internal Rate of Return - IRR) ´õ û÷ÀùÈ< 

<]$û#õÚ à`è×Û́  &Ú÷̧ æÚÎ´ ×.  

µ´´ <]$û#õÚµ×ß àþ]ùßõØ üÙ÷À$ àùÔû$õÚæ× (IRR) èóù× æØùßùèóù× æØùßùèóù× æØùßùèóù× æØùßù.  (ÙæÝóÔ 08) 

    
(c) ÷À̀ < µÈ& ùÚÂßû$÷Àæµ×æÝµèß &ßö$<Ø ûÚÍ<`× <]Ô{× û{õ ûÍ÷ÀÚ µÓ: 

    Ø`Ø`Ø`Ø`....    

µè<Ùß æÝÙÛ 120,000 

Ñ÷Ù̧Ú ÃÙßûõß 175,000 

×ùßõÜ ûÚÍ<`× 500,000 

µ<ùõß 105,000 
 

ÑëÙ] ûÚÍ<`× (variable cost), 10,000 Q + 1,000 Q2 æÚ. µ´{Ú, Q ×ùÔ ùÚÂßû$÷Àæ×$µèß ´$&Úæ ùÚ́ `<Ố  µÓ.  

´$&Úæ áÙßÏÈ / ÆÙ ÁÜÚõ× P = -1,000 Q + 120,000 æß µÓ. µ´{Ú P ×ùÔ µÈ&×æ ÆÙ µÓ. 

û{õ ÷À| èóù× æØùßùèóù× æØùßùèóù× æØùßùèóù× æØùßù: 

(i) ´$&Úæ Ố_  ûÚÍ<`× ÁÜÚõ×. 

(ii) ´$&Úæ &´§µ¨÷Àù (break-even) ûǗ $ó× (µÈ& &‘ç]$<). 

(iii) Ù$þ× ãûÍ´æØó× µæµØù ûǗ $ó× &{ ÆÙ.  (ÙæÝóÔ 08) 

 (´Ô_ ÙæÝóÔ 20) 

06 <ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù×<ù ûÜÁßù× 

C µæ$ðµ&{Ú à<&$ù×    
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æ}æ}æ}æ}    ×ÔõÝ æÜÚ×$ ûÎæßÂ$ Ù`×Ú&ßõÝ<×ÔõÝ æÜÚ×$ ûÎæßÂ$ Ù`×Ú&ßõÝ<×ÔõÝ æÜÚ×$ ûÎæßÂ$ Ù`×Ú&ßõÝ<×ÔõÝ æÜÚ×$ ûÎæßÂ$ Ù`×Ú&ßõÝ<    

÷À̀ ùÔÈ æÜÚ×$<ÙÚ×÷À̀ ùÔÈ æÜÚ×$<ÙÚ×÷À̀ ùÔÈ æÜÚ×$<ÙÚ×÷À̀ ùÔÈ æÜÚ×$<ÙÚ×    æÜÚ×$ Ù`×Ú&ßõÝ<æÜÚ×$ Ù`×Ú&ßõÝ<æÜÚ×$ Ù`×Ú&ßõÝ<æÜÚ×$ Ù`×Ú&ßõÝ<    æÜÚ×$ ùÚÌ<ëùæÜÚ×$ ùÚÌ<ëùæÜÚ×$ ùÚÌ<ëùæÜÚ×$ ùÚÌ<ëù    

    
01 ´>ð´01 ´>ð´01 ´>ð´01 ´>ð´    

à<µý$ßø×à<µý$ßø×à<µý$ßø×à<µý$ßø× 

 

<`÷Àèõß µõ$ØõÝØ` 
à$<Ìíù× &{ û`{`÷ÀÚÙÚ 
æÚÎ´. 

ùÚÌ<ëù× æØùßùùÚÌ<ëù× æØùßùùÚÌ<ëù× æØùßùùÚÌ<ëù× æØùßù &ß<þ$<×, ÑÂ× ûö× µ{$ß µõßØ`´ ùÚÁß¥õ< ûÜæ$Á æÚÎ´. 

àúÀÚùßùàúÀÚùßùàúÀÚùßùàúÀÚùßù {`ò×æß µ{$ß Ø|û&ð{ùæß µèù {`Ø ÷À̀ æßÒ´. 

{úù̧${úù̧${úù̧${úù̧$    ÷Àæß<ù÷Àæß<ù÷Àæß<ù÷Àæß<ùßùßùßùßù 
×´æß ´ù$ &`}æÚÙÚ´õß Ò´æÚùß àùõÝØ`< {úù̧$ è`ùÛ́  µ{$ß 
õ{<ÔØ` æÚÎ´ µ{$ß µõ$ßØ$ è`ùÛ́ . 

Ù`×Ú&ßõÝèõ æØùßùÙ`×Ú&ßõÝèõ æØùßùÙ`×Ú&ßõÝèõ æØùßùÙ`×Ú&ßõÝèõ æØùßù 
Ñ&ßõØ æÚÎ´æÚùß µõ$Ø< à÷À$Ù æØ`óÔ äæÚùß äæ 
<ëùµ×ùß ÙÚ×$ ÷À̀ æßÒ´. 

&Èýùßø æØùßù&Èýùßø æØùßù&Èýùßø æØùßù&Èýùßø æØùßù 
õ$ÌæÚæ µ{$ß µ{ßõÝ æ$Øæ &Èýùßøõ$<× µûùßùÔÈ æÚÎ´ 
µ{$ß õ{<ÔØ` æÚÎ´. 

&úÀ{ùß æØùßù&úÀ{ùß æØùßù&úÀ{ùß æØùßù&úÀ{ùß æØùßù ×´æß &ßöÛØ µÙ& û`{`÷ÀÚÙÚ< ûÜæ$Á æÚÎ´. 

èóù× æØùßùèóù× æØùßùèóù× æØùßùèóù× æØùßù èóÚõ´× èóù× æÚÎ´. 

Ñ´&ùßùÑ´&ùßùÑ´&ùßùÑ´&ùßù 
à<&ùß ùÚè´ù×æð ûÚÑ&Û́  &úÀ{$ ÑÑø û`õÚæò 
õÌæ$ùÔæÞÙ< &Ñ&ßõØ< ûÎæßÂ$ æÚÎ´. 

û`{`÷ÀÚÙÚ æØùßùû`{`÷ÀÚÙÚ æØùßùû`{`÷ÀÚÙÚ æØùßùû`{`÷ÀÚÙÚ æØùßù à÷À$} æØ`óÔ &Ñ&ßõØ$õß́ æ< ÷À̀ æßÒ´. 

àÌöæõù× æØùßùàÌöæõù× æØùßùàÌöæõù× æØùßùàÌöæõù× æØùßù    à<µý$ßø×ð û{&Ô &ÔûÔØ`÷̧ û÷À ´èÚùß àÌö× á÷ÀÚÍûõß æÚÎ´. 

{úù̧$èùßù {úù̧$èùßù {úù̧$èùßù {úù̧$èùßù     µ&Òµ´ùß µ{$ß ûÜ×õßù ÷À̀ Îµ´ùß ùÚè´ù×æð ä}«´. 

&ð{ùß æØùßù&ð{ùß æØùßù&ð{ùß æØùßù&ð{ùß æØùßù    à÷À$} æØ`óÔ Ñ&ßõØ$õß́ æ< &ð{ùß æÚÎ´. 

&&&&$Ø$‘Áèõ æØùßù $Ø$‘Áèõ æØùßù $Ø$‘Áèõ æØùßù $Ø$‘Áèõ æØùßù     
æØ`óÔ <Áµ×ùß µ{$ß &‘ç]$ <Áµ×ùß ûÜø$ù æØ`óÔ 
µæ®µ×ùß ÷À̀ æßÒ´. 

            

÷À̀ ùÔÈ æÜÚ×$<ÙÚ×÷À̀ ùÔÈ æÜÚ×$<ÙÚ×÷À̀ ùÔÈ æÜÚ×$<ÙÚ×÷À̀ ùÔÈ æÜÚ×$<ÙÚ×    æÜÚ×$ Ù`×Ú&ßõÝ<æÜÚ×$ Ù`×Ú&ßõÝ<æÜÚ×$ Ù`×Ú&ßõÝ<æÜÚ×$ Ù`×Ú&ßõÝ<    æÜÚ×$ ùÚÌ<ëùæÜÚ×$ ùÚÌ<ëùæÜÚ×$ ùÚÌ<ëùæÜÚ×$ ùÚÌ<ëù    

02 ´>ð´02 ´>ð´02 ´>ð´02 ´>ð´    

þ$Ñõ×þ$Ñõ×þ$Ñõ×þ$Ñõ× 

    
áµèùèõß û&ÔÃ´ µù$<ù 
û&ÔÃ´æ ÷À̀ ùỐ  þ$Ñõ æÚÎ´ / 
&‘<#õ è`ð_ Ñ&úÀÛ́ .  

þ$Ñõ æØùßùþ$Ñõ æØùßùþ$Ñõ æØùßùþ$Ñõ æØùßù    ûÜµ×$ßèÚæ< þ$Ñõµ×ß µ×$÷Àùßù. 

õæßµ&õæßµ&õæßµ&õæßµ&ßØ` æØùßù ßØ` æØùßù ßØ` æØùßù ßØ` æØùßù     
<®ù$æ´, &ß<þ$<×, {`æÚ×$< µ{$ß èÝó$õß́ æ ý< õÛØó× 
æØùßù. 

ûÜ÷ÀÌÁù× æØùßùûÜ÷ÀÌÁù× æØùßùûÜ÷ÀÌÁù× æØùßùûÜ÷ÀÌÁù× æØùßù    &ÔÑµÁßÂÛ µÙ& ã÷À${Øó &´è åûßûÔ æØùßù. 

ûÜ&ßõ$Ø ÷Àæß<ùßù ûÜ&ßõ$Ø ÷Àæß<ùßù ûÜ&ßõ$Ø ÷Àæß<ùßù ûÜ&ßõ$Ø ÷Àæß<ùßù     ûÜ&ßõ$Ø ´èÛùß ùÚµ×$ßíù× æØùßù. 

ûÚ}Úµ×Ù æØûÚ}Úµ×Ù æØûÚ}Úµ×Ù æØûÚ}Úµ×Ù æØùßùùßùùßùùßù    ÷ÀÛ à`õÚ Ñ&ßõØ &`Ù`&ß́ æð µè$ùÔ æÚÎ´. 

ûǗ Ôçõ$ ÷Àæß<ùßùûǗ Ôçõ$ ÷Àæß<ùßùûǗ Ôçõ$ ÷Àæß<ùßùûǗ Ôçõ$ ÷Àæß<ùßù    <`÷Àèõßæ´, àùÔûÚ}Úµ<Ù àùÔ< ÷Àæß<ùßù. 

&&úÀùßù &&úÀùßù &&úÀùßù &&úÀùßù     õ<õß µ÷À×æß &´è &‘èõ µÓ÷À̀ ×Ú ý`ÙÛ́ . 

Ñ&úÀùßùÑ&úÀùßùÑ&úÀùßùÑ&úÀùßù    èóù× æÚÎ´ {$ / µ{$ß û`{`÷ÀÚÙÚ æÚÎÈ {Ø{$ Ñ&úȨ̀ µ&Ò´. 

            

÷À̀ ùÔÈ æÜÚ×$<ÙÚ×÷À̀ ùÔÈ æÜÚ×$<ÙÚ×÷À̀ ùÔÈ æÜÚ×$<ÙÚ×÷À̀ ùÔÈ æÜÚ×$<ÙÚ×    æÜÚ×$ Ù`×Ú&ßõÝ<æÜÚ×$ Ù`×Ú&ßõÝ<æÜÚ×$ Ù`×Ú&ßõÝ<æÜÚ×$ Ù`×Ú&ßõÝ<    æÜÚ×$ ùÚÌ<ëùæÜÚ×$ ùÚÌ<ëùæÜÚ×$ ùÚÌ<ëùæÜÚ×$ ùÚÌ<ëù    

03 ´>ð´03 ´>ð´03 ´>ð´03 ´>ð´    

ÑÁßµÙßÂó×ÑÁßµÙßÂó×ÑÁßµÙßÂó×ÑÁßµÙßÂó×    
    
à÷À{&ß àõØ &Èýùßøõ$ 
µè$òùè$ &´$ù à&´$ùõ$  
ý`ÙÛ́  / Ñ<#õ è`ð_ Ñ&úÀÛ́ .  

ÑÁßµÙßÂó× æØùßùÑÁßµÙßÂó× æØùßùÑÁßµÙßÂó× æØùßùÑÁßµÙßÂó× æØùßù    
Ñ&úȨ̀ µ{$ß ûÜõÚüÙ× õÛØó× æÚÎ´ ûÚóÚ& Ñ&ßõØ$õß́ æ< 

ûÎæßÂ$ æØùßù. 

&´$ùæÈ ýÙùßù &´$ùæÈ ýÙùßù &´$ùæÈ ýÙùßù &´$ùæÈ ýÙùßù     &´$ùæÈ µ&$×$ è`ùÛ́  ûÚóÚ& ûÎæßÂ$ æÚÎ´. 

à&´$ùõ$ ýÙùßùà&´$ùõ$ ýÙùßùà&´$ùõ$ ýÙùßùà&´$ùõ$ ýÙùßù    à&´$ùõ$ µ{$ß µ<ù&ßæÈ µ&Ò´ ûÚóÚ& ûÎæßÂ$ æÚÎ´. 

µ<ù&ßµæ$ð ÷Àæß<ùßùµ<ù&ßµæ$ð ÷Àæß<ùßùµ<ù&ßµæ$ð ÷Àæß<ùßùµ<ù&ßµæ$ð ÷Àæß<ùßù    ×´æß õµ<µææÚùß µ<ù&ßµæ$ð ÷Àæß<ù ÷À| {úù̧$ è`ùÛ́ . 

&`æÚÙßÙæß µ&ß ÷Àæß<ùßù &`æÚÙßÙæß µ&ß ÷Àæß<ùßù &`æÚÙßÙæß µ&ß ÷Àæß<ùßù &`æÚÙßÙæß µ&ß ÷Àæß<ùßù     &ÔÑµÁßÂÛ ÙæßÂó &$Ø$‘Á µæ$ð ÷À̀ æßÒ´. 
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&ÕõÜ &ÕõÜ &ÕõÜ &ÕõÜ ûõÜÚæ$ûõÜÚæ$ûõÜÚæ$ûõÜÚæ$ 
 

 

� � �� � √�� � 4	
2	  

S�	 n	2 �	2a��n-1�d� 

� � �	�1 � ��� 

� � �	�1 � ��� 

� � 	��
��� � 1�
��� � 	1�  

��� � 	%�	 !"#$		
%!"#$ �	!"#&'	�� � 		�% 

èóÚõ´× ´ÕÙøÌ´èóÚõ´× ´ÕÙøÌ´èóÚõ´× ´ÕÙøÌ´èóÚõ´× ´ÕÙøÌ´: 
    

 

<Ìèí &ÇæØó: 
 	��		 � 	�� � 
 � 0    ×ù <Ìèí &ÇæØóµ×{Ú ṌÙ  
 

 

 
&´$ùßõØ µÁÜßóÚ: 

&´$ùßõØ µÁÜßóÚ×æ ỐÙß û÷À: 

 
 

èÝµó$ßõßõØ µÁÜßóÚ: 

èÝµó$ßõßõØ µÁÜßóÚ×æ ỐÙß û÷À: 
 

  � � 		 �)*+	,��)+,� 	         � - 1 

 

ûǗ $ó$õß́ æ ´ÔÙ]ûǗ $ó$õß́ æ ´ÔÙ]ûǗ $ó$õß́ æ ´ÔÙ]ûǗ $ó$õß́ æ ´ÔÙ]::::    
 

 

&Ô_ µû$ÙÚ×: 

 

<`Ùß µû$ÙÚ×: 

 

<>ðÈ æÚÎ´: 
 

<Ìõ´$ù àè× = àù$èõ àè× . 
,

�,/)�* 

 
 

ãæ&æ à$û&Ô µèÒ´: 
 

 

 

 

àþ]ùßõØ üÙ÷À$×Úõ$ àùÔû$õ×: 
 

��� � 	 %01)2+	02)1'	%01+	02'  % 

µ{$ß 
 

 

%� ∑�4	 �	∑ �	∑ 4'															
5�%� ∑�� �	�∑���' . %�∑ 4� �	�∑4��'�

 

&‘ç]$õß́ æ Ñ&ßõØ$õß́ æ ÆóÔÈ&‘ç]$õß́ æ Ñ&ßõØ$õß́ æ ÆóÔÈ&‘ç]$õß́ æ Ñ&ßõØ$õß́ æ ÆóÔÈ&‘ç]$õß́ æ Ñ&ßõØ$õß́ æ ÆóÔÈ::::    

´ø]×ù]	�̅ : 

à& Ṍ{Úõ ÷Àõßõ &úÀ{$: 
∑7
�  

& Ố{Úõ ÷Àõßõ &úÀ{$: 
∑87
∑8  

 

&È´õ àûè´ù×	9: 

 
à& Ố{Úõ ÷Àõßõ &úÀ{$:  
 

5∑�7+		7̅	�2�  µ{$ß 					5∑72� �	 �̅�	 
 

 

& Ố{Úõ ÷Àõßõ &úÀ{$: 

 

5∑8�7+		7̅	�2∑8  µ{$ß 					5∑872∑8 �	 �̅�	 
 

ÑëÙ]õ$ &‘èÝóæ× (CV): 
 

&È´õ àûè´ù×

´ø]ù]×
    = 

:
7̅  X 100 

 
 

ûǗ $ó$õß́ æ ÑëÙù×ùß µ÷Àææß &`&úÀÛ́ûǗ $ó$õß́ æ ÑëÙù×ùß µ÷Àææß &`&úÀÛ́ûǗ $ó$õß́ æ ÑëÙù×ùß µ÷Àææß &`&úÀÛ́ûǗ $ó$õß́ æ ÑëÙù×ùß µ÷Àææß &`&úÀÛ́ : 

ûÚ×Ì&ùßµèß &{&Èýùßøõ$ &‘èÝóæ×: 

&{&Èýùßøõ$ &‘èÝóæ× (r): 

 

 

ûÜõÚû$×ù &‘èÝóæ×ùß (a &{ b): 
 

b = 
%� ∑7;	+	∑ 7	∑;'
%�	 ∑ 72	–�∑ 7�2'  

 

a = 4= 	� 		��̅ 

 

 

´èÚùß µ÷ÀùÔ Ùý×Ú. 

n {Ú µüæ]× 

n {Ú µüæ]× 
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                                                                                                                                                                        &ÕõÜ &ÕõÜ &ÕõÜ &ÕõÜ ûõÜÚæ$      ûõÜÚæ$      ûõÜÚæ$      ûõÜÚæ$                                                                                                          (áõÚÍ µæ$ð&)    
                       
 

 

à$ÌöÚæ ÑëÙ]×ùß æ$à$ÌöÚæ ÑëÙ]×ùß æ$à$ÌöÚæ ÑëÙ]×ùß æ$à$ÌöÚæ ÑëÙ]×ùß æ$ÙÙÙÙûÍ§µ¨÷À×æß ûÔØ$ &`&úÀÛ́ûÍ§µ¨÷À×æß ûÔØ$ &`&úÀÛ́ûÍ§µ¨÷À×æß ûÔØ$ &`&úÀÛ́ûÍ§µ¨÷À×æß ûÔØ$ &`&úÀÛ́     

÷ÀÌÁæ à‘æ: 

ÆÙ &$µûßæßÂæ×   =  
>1
>? 	.  100 

 

ûǗ $ó &$µûßæßÂæ×   = 
@1
@? 	.  100 

 

àè× &$µûßæßÂæ×    = 
A1
A? 	.  100 

 

&ØÙ &´${$Ø ÆÙ ÷ÀÌÁæ×   =  
∑>1
∑>? . 100 

 

&ØÙ &´${$Ø ûǗ $ó ÷ÀÌÁæ×  =  
∑@1
∑@? . 100 

 

&$´$ù] ÆÙ &$µûßæßÂæ×   = 
,
� 	∑ >1>? 	. 100 

 

&$´$ù] ûǗ $ó &$µûßæßÂæ×  = 
,
� 	∑ @1@? 	. 100 

 
þÍõ &´${$Ø ÷ÀÌÁæ×ùß 

1) û÷ÀùÈ þÍõ / Ù`&ßûÚ×Ìµèß: 

ÆÙ ÷ÀÌÁæ×        = 
∑>1@?
∑>?@? 	.  100 

  

ûǗ $ó ÷ÀÌÁæ×  = 
∑@1>?
∑@?>? 	.  100 

  
2) &}æù þÍõ / û$µÂßµèß: 

ÆÙ ÷ÀÌÁæ×          =  
∑>1@1
∑>?@1 	.  100 

  

ûǗ $ó ÷ÀÌÁæ×    =  
∑@1>1
∑@?>1 	.  100 

 
3) &È´õ þÍõ 

ÆÙ ÷ÀÌÁæ×         = 
∑>1B
∑>?B 	.  100 

  

ûǗ $ó ÷ÀÌÁæ×  = 
∑@1B
∑@?B 	.  100 

 
þÍõ &$´$ù] &$µûßæßÂæ 

 

ÆÙ ÷ÀÌÁæ             =   
∑%	B	.CD'
∑B . 100 

 

ûǗ $ó ÷ÀÌÁæ      =   
∑%	B	.CE'
∑B . 100 

 

 

F � � � 	G9  

æ$Ù µÁÜßóÚ: 
 

à$æÙù à$æ#õÚ× :  Y � T + S + C + R 

 

èÝóù à$æ#õÚ× :  Y � T + S + C + R 

    

æÝÙæ &{ &Èþ$Ñõ$<×æÝÙæ &{ &Èþ$Ñõ$<×æÝÙæ &{ &Èþ$Ñõ$<×æÝÙæ &{ &Èþ$Ñõ$<×    

∪  - µÈÙ×; A∪B ´èÚùß à<×< µ÷À<õ$<æß þ$Ñõ 
µù$æØ A æÝÙæµ×ßõß,  B æÝÙæµ×ßõß à`õÚ à<×< 
<Ù äæõÝ< ùÚØ|ûó× æØ×Ú. 

 

∩ - µ¨÷Àù×;    A∩B ´èÚùß A &{ B æÝÙæ 
µ÷Àµæ{Ú́  à`õÚ à<×< àÌöæõù× æØ×Ú.  

 

P (A) –  A ùÈ &Ú÷Àß½µ×ß &Èþ$Ñõ$<×  
P (A/B) - B ùÈ &Ú÷Àß½× &Ú÷̧< à`õÚ à<&ßö$<æ A 
ùÈ, &Ú÷Àß½× &Ú÷Ò̧µÈ &Èþ$Ñõ$<×  

 

µû$÷ ̧ùÛõÚ: 

P (A∪B) = P (A) + P (B) – P (A∩B) 

 

P (A/B) = 
J�$∩&�
J�&�  

 
ÑÑæßõ &&Èþ$Ò ÑëÙ]×æ àµûßæßÂÚõ àè× &{ 
ÑëÙ]õ$<×: 

 

K��� � ∑�L�M�	�NONP4	 . L	4	MQQ)  �	∑L . �  

 

#����� � 	∑L��		 �					 �∑ L���  

 

ûǗ õ <]$ûßõÚ×: 

 

 


